C—CHANNEL REQUIREMENT WHEN USING UNDER BEAM LIFT ASSEMBLY
. [
3/4 LOCK NUT NOTES: SEE PAGE 4
3.50 HEX BOLT 1. SEE L1073 FOR INFORMATION ON ASSEMBLY, WELDING PROCEDURE, AND ALIGNMENT.
2. SEE SERVICE MANUAL FOR INFORMATION CONCERNING MAINTENANCE PROCEDURE.
3. MANUFACTURED UNDER ONE OR MORE OF THE FOLLOWING PATENTS:
OTHER PATENTS PENDING U.S. PATENT NOS. — 5,366,237 — 4,166,640 FRAME BRACKET
TRACK WIDTH (IN) 715 730 76.5 77 5 835 85.0 4. SEE INTRAAX MOUNTING DRAWING FOR SUGGESTED CROSSMEMBER LOCATIONS Jﬂ SUPPORT BRACKET
DIMENSION "A" (N) | 30.00 | 31.50 | 35.00 | 36.00 | 42.00 | 43.50 5. SEE L1182 FOR HEIGHT CONTROL KIT OPTIONS. it \o i
DIMENSION "B" (IN) 35.00 | 36.50 | 40.00 | 41.00 | 47.00 | 4850 @ SEE PAGE 4 FOR C—CHANNEL AND FRAME BRACKET BRACE REQUIREMENTS. 1 1
o iN \
DIMENSION "C" (IN) 46.50 | 48.00 | 51.50 | 52.50 | 58.50 | 60.00 <]SEE D—-29431 FOR DIMENSIONS AND CROSSMEMBER LOCATIONS. / \ IMPORTANT! @ \\
8. FOR BOLT—ON MOUNTING PATTERNS, SEE DRAWING D—26651. / ‘ © ‘ T \
\ [ ®& J IF C—CHANNEL IS REQUIRED \
o i/ INSTALL FRAME BRACKET SUPPORT \
q\ )y BRACKET FIRST. REST THE C—CHANNEL
o ON TOP OF FRAME BRACKET SUPPORT
) - BRACKET SURFACE AND WELD AS SHOWN.
7.00" SHEAR-TYPE BOLT
/ IF RETROFITTING UBL KIT, C—CHANNEL
- MAY NEED RELOCATED PER ABOVE.
) - TIGHTEN BOLT UNTIL CLEARANCE SPECIFICATIONS: 50.00 INCH MIN. AXLE SPACING REQUIRED FORWARD
D SHEAR HEAD SEPARATES a) 1.0 INCH MINIMUM CLEARANCE REQUIRED BETWEEN TOP OF TIRE AND OF LIFTABLE SUSPENSION.
& ‘ BOTTOM OF TRAILER STRUCTURE WHEN AXLE IS AT FULL JOUNCE.
b) 2.0 INCHES MINIMUM CLEARANCE REQUIRED BETWEEN INSIDE OF
TIRE AND TRAILER STRUCTURE FOR LATERAL MOVEMENT.
c) .75 INCH MINIMUM CLEARANCE MUST BE MAINTAINED AROUND
AIR SPRING WHEN IT IS AT MAXIMUM DIAMETER.

NON—STANDARD WASHER WITH A TIGHTER
TOLERANCED HOLE. DO NOT SUBSTITUTE
A STANDARD WASHER FOR THIS PART! ~————————————— "C" (IN=IN TIRES MIN.)

"B" 4725

O.E.M. INSTALLED SHOCK BOLT KIT "B"+.06 ¢—¢ (FRAME BRACKET CENTERS) —|

| "B"-7.25 |
| |
| L
i (3.75) \ (HP SPINDLE, SHOWN WITH AXLE CAP)
THE FRAME BRACKET WING MUST BE SUPPORTED AND e e A \ (7.14) \
WELDED AS SHOWN IN L64. N\ ‘ |
‘ (10.75) ‘
| WITH WING WINGLESS |
@—»‘(10,50 TO ww.oo)‘<— ‘ ‘ ‘
! Lo | ‘ ‘
| || | | |
] D \ I \ | AXLE /BEAM WELDMENT |
Y S \ﬁ ?r fffffffffffffffff - : P I : ‘ SHOWN ROTATED ‘
1 | [ ] \ : SO THAT TOP OF BEAMS i
1 o 1 | ARE PARALLEL |
H | | | ‘ TO FRAME FOR CLARITY. ‘
Y T NN |
{ RIDE HEIGHT | i || |
ﬂ{ b JOUNCE J | | ‘
BUMPER CONTACT ‘ b ‘
o | || /] ©® i
— T - ! Lo o= |
| | | + 5.50
REE:C[UND ‘ ‘ ‘ ‘ / (2.75) |
+.38 R - : P 1 !
AXLE ALIGNMENT \
~— "A"-15.00
(4.75) FOR WINGLESS WELD—ON —=
HANGERS. "A"+.06 ¢—¢ (AR SPRINGS) ——————=
(4.25) FOR ALL OTHER HANGERS | | e - (1.38) —| |—
BRAKE CHAMBER PORTS MUST ?15.00 MAX. AR SPRING

BE ORIENTED INWARD AS SHOWN

(39.40 MAX. OVERALL)

TORQUE SPECIFICATIONS SEE PAGE 2 FOR THE TABULATED DIMENSIONS SHOWN ABOVE
TORQUE
DESCRIPTION SIZE (FT-LB)
SHOCK BOLTS 3/4-10 210-235
AIR SPRING NUTS, UPPER 3/4-16 80-100
AIR SPRING NUT, LOWER 1/2-13 | 25-35 This Print remains the property of
S_CAM BEARING BOLTS 3/8—16 | 35-45 Hendrickson. All information contained
thereon is confidential. It is loaned
BRAKE CHAMBER MNTG. NUTS | 5/8—11 100-110 . ’
subject to return on demand and on
ABS BRACKET BOLTS 1/4=20 | 75-100 IN-LB express condition that it is not to be
BRAKE DUST SHIELD BOLTS 5/16—18 | 160—180 IN-LB copied or used directly or indirectly
LOWER SHOCK TOWER BOLTS | 1/2-13 100-110 FT LB for any purpose other than the pur— TIRENDRI ,,,,m,[E%Nﬁ,ggsggggaww,s,gwu%é;gbgﬁg, i iﬁiﬁf ZA; ZZZ EEEEPP Sy R INTRAAX® AAEDT P N
T T - -' @ K;; :]i XoE - CHK'D BY DRAWING No.
CHAIN ATTACHMENT BOLTS 3/4-10 | 240-260 FT LB pose for which it has been loaned to e ex - e [ el o a ] s oG SHEMKLE e o
Oou. ANGULAR: + — 3RD ANGLE PROJECTION 22| 22188 |FML| 5/51/13 [eroen | PROPERTY OF p—
LOWER CHAIN BRACKET BOLTS| 5/8-11 | 190-200 FT LB Y I N e B a7y U [DWENSONS ADFERE 70 ASI ¥14.54- 1982 REV[EON No.| BY | _DATE WSCHNEDER | esomenson INSTALLATION DRAWING D—25321




STANDARD & HIGH CONTROL TRAVEL DIMENSIONS FROM PAGE 1
RIDE @ REBOUND| REBOUND | BUMPER < J J
SHOCKS | SHOCKS SHOCKS | SHOCKS
14.0 5.1 4.5 5.8 2.5 8751 10,0 1911 11.0 18.5 17.8
15.0 5.9 5.8 5.5 2.9 8751120 19.5 ] 11.6 18.8 18.9
16.0 5.9 4.9 4.0 5.4 8751 14.0 ] 19.4 | 121 20.9 20.6
17.0 4.9 5.9 3.6 4.4 8751 14.0 | 19.5 | 121 20.9 20.6
NOTES:

1. SEE L600 FOR SUSPENSION WEIGHT.
2. SEE L1073 FOR ALLOWABLE RIDE HEIGHT RANGES.

S| JOUNCE AND REBOUND DIMENSIONS CHANGE AS THE RIDE HEIGHT CHANGES
FROM THE NOMINAL POSITION.

4| DIMENSIONS "H” & "J7 WILL REMAIN CONSTANT REGARDLESS OF RIDE HEIGHT
VARIATION FROM NOMINAL POSITION.

5| WHEN THE OPTION FOR FRONT AND REAR SHOCKS IS SELECTED,
DIMENSIONS FROM "REBOUND WITH REAR SHOCKS” AND "J” WITH REAR SHOCKS SHOULD BE USED.

6| AIR DISC ONLY AVAILABLE WITH REAR SHOCKS

This Print remains the property of
Hendrickson. All information contained
thereon is confidential. It is loaned,
subject to return on demand and on
express condition that it is not to be
copied or used directly or indirectly

for any purpose other than the pur— K.GALIGHER

® .25=1.00 S‘ZE 0 ‘V}Gﬁaﬂt
pose for which it has been loaned to HHENDRIGKS ON INTRAAX™ AAEDT ST

om|2|D|D
NN
NMNEEIN

] e s G IS
AP

you.

INSTALLATION DRAWING D—-25321

D BY:
W.SCHNEIDER

TRAILER COMMERCIAL VEHICLE SYSTEMS
2070 INDUSTRIAL PLACE SE. CANTON, OH 44707-2600 _U.SA




INSTALLER MAY ADD GUSSETS OR

AN ADDITIONAL CROSS MEMBER TO
UPPER BRACKET FOR ADDITIONAL

STRUCTURAL SUPPORT.

INSTALLER TO ADD DOUBLER PLATES

ON ENDS OF TUBES TO DISSIPATE STRESS.

G FRAME

IT IS THE RESPONSIBILITY OF THE SUSPENSION
INSTALLER TO ENSURE STRUCTURALLY ADEQUATE
ATTACHMENT OF BRACKETS TO FRAME.

3

29.50

X 6 X 1/4” TUBE

SUGGESTED MINIMUM

TORQUE SPECIFICATIONS

DESCRIPTION sze | TOHRQUE
SHOCK ABSORBER BOLTS 3/4710 210—235
LOWER SHOCK TOWER BOLTS 1/2713 100-110
LOWER CHAIN BRACKET BOLTS 5/8711 190—-200
CHAIN ATTACHMENT BOLTS 3/4710 240—-260

VIEW AA

SCALE: 1.0=1.0

VIEW

MARK LINE AT

SHOWN OFFSET (O
WHILE AXLE |

AT FULL

SCALE: 1.0=1.0

ASSEMBLY PROCEDURE FOR REAR MOUNTED SHOCK :

3.

. SET THE SUSPENSION TO RIDE HEIGHT.
. LOCATE UPPER SHOCK BRACKET ACCORDING TO

. BOLT TOP OF SHOCK TO UPPER BRACKET.

IF THE REAR SHOCK OPTION IS USED
WITH THE REBOUND LIMITER, THE UPPER SHOCK
BRACKET ATTACHMENT MUST BE ABLE TO

WITHSTAND A FORCE OF 2000 LB PER SHOCK
ABSORBER. IF THE REAR SHOCK OPTION IS
USED WITHOUT THE REBOUND LIMITER, THE
UPPER SHOCK BRACKET ATTACHMENT MUST
BE ABLE TO WITHSTAND A FORCE OF 5700 LB
PER SHOCK ABSORBER.

38.00 |
|
|

=

TOWER

INSTALLER TO SUPPLY SPACER
BETWEEN TOP OF AIR SPRING
MOUNTING PLATE AND UNDERSIDE
OF CROSSMEMBER.

THE SHOWN DIMENSIONS AND WELD INTO PLACE.
THE CROSSMEMBER MUST BE 6 X 3 X 1/4 MINIMUM

REAR SHOCK EXPLODED VIEW

TO WITHSTAND TORSION. N
BOLT LOWER SHOCK TOWER BRACKET TO BEAM USING 1/2—13 FLANGE A REAR VIEW
1/2—13 FLANGE BOLTS AND LOCKING FLANGE NUTS.

BOLT BOTTOM OF SHOCK TO LOWER SHOCK TOWER BRACKET
TIGHTEN ALL FASTENERS TO SPECIFIED TORQUE.

This Print remains the property of
Hendrickson. All information contained
thereon is confidential. It is loaned,
subject to return on demand and on
express condition that it is not to be
copied or used directly or indirectly
for any purpose other than the pur—
pose for which it has been loaned to
you.

REBOUND LIMITER EXPLODED VIEW

ASSEMBLY PROCEDURE FOR REBOUND LIMITER :
. POSITION UPPER BRACKET ON FRAME AND WELD INTO PLACE.

(POSITION OF LEFT AND RIGHT BRACKETS ARE SLIGHTLY DIFFERENT)

. ATTACH LOWER BRACKETS TO SIDE OF SUSPENSION BEAM USING

THE FOUR 5/8” FLANGE BOLTS AND NUTS. TIGHTEN NUTS LEAVING
THE BRACKET LOOSE ENOUGH TO ALLOW ADJUSTMENT.

. VERIFY THAT THE CHAINS HAVE THE CORRECT NUMBER OF

LINKS INDICATED FOR THE APPLICATION'S RIDE HEIGHT.

. LOWER THE SUSPENSION TO FULL REBOUND.

WITH SHOCK FULLY EXTENDED, MEASURE 3/8” OFFSET FROM
THE BOTTOM EDGE OF THE SHOCK ABSORBER DUST TUBE AND
MARK WITH A PAINT PEN OR FELT TIP MARKER. IF THE
SUSPENSION IS NOT EQUIPPED WITH REAR SHOCKS, OFFSET
1/4" ON THE FRONT SHOCK AND MARK.

. RAISE THE SUSPENSION UNTIL THE EDGE OF THE SHOCK ABSORBER

DUST TUBE AND THE MARK ON BODY OF SHOCK ARE ALIGNED.

. ASSEMBLE CHAIN TO LOWER BRACKET WITH BOLTS PROVIDED

ON CHAIN.

. ADJUST LOWER BRACKET ON SIDE OF SUSPENSION BEAM UNTIL

ALL THE SLACK IS TAKEN OUT OF THE CHAIN. TIGHTEN ALL BOLTS
AND TORQUE TO SPECIFICATION.

. WELD TOP OF LOWER BRACKET TO SIDE OF SUSPENSION BEAM.

CHAIN LENGTH
RIDE HEIGHT | NUMBER OF LINKS

14 14

15 13

16 15

17 15

[ UNLESS OTHERWISE NOTED: ______| 5 | 26252 | za6| 1/27/17 | oraw BY SCALE SZE PacE
o) 2 ‘ @}@m TOLERANCES AR BIMENSIONS ARE: 11— T T o575 K.GALIGHER |  3-8-00 ‘ N TR AA >< ® A A ED T 166=1.000 ) JoF4
CIHENDR] o e . oo oo
I Qe [E e e ] 00 SHEKLE | e

TRAILER COMMERCIAL VEHICLE SYSTEMS ANGULAR: - R0 ANLE FROKCTON APFD B PROPERTY OF _
2070 INDUSTRIAL PLACE SE.. CcANmN, oH ?nomsoo USA. DIMENSIONS ADHERE TO ANSI Y14.5M—1982|REV.|ECN NO. | BY DATE W.SCHNEIDER HENDRICKSON ‘ N S TA L LA —H O N D R A W‘ N G D 2 5 321




5 —

1.0 —

C—CHANNEL WELDING AT

C—CHANNEL — WINGLESS, WELD—ON

.25
.25

1.0 —

HARDENED WASHERS (PER ASTM F436) ARE
RECOMMENDED FOR ALL SLOTTED HOLE LOCATIONS
C—CHANNEL WELDING AT

.5 —

35" & 47" BEAM CENTERS 14.0 AND 15.0 RIDE HEIGHTS 41" & 48.5" BEAM CENTERS
5. TIGHTEN FRAME BRACKET MOUNTING BOLTS.
N — ‘ ‘ Lo 2X FABRICATED STRUT A - . —
N (27 X 2-1/27) A T =
ST BN L\ i 2 T ~ bl === nJ
@] S // N ; r ?i i p \\‘ jE3H] /// H //,/
u I ” » i L Hil % _ Uy
SN (37 X 1-1/47) 1 i
| J’\j\t’ FABRICATED 4 ’j;/’\; . il .
N CROSSMEMBER X e (’E” + .50) g i
I amTm N S\ 1 I SUSPENSION
i 0 (2x 812" X 0 i i BEAM (REF)
406" SLOT) 0
\
1 I i Q o i 1
O \\ 7 i t [7 o il i 1l la) ] N\
L= @] O B I
O o) o) O 569 £10 ¢ @ / (3.00) hS @\“ H b O \ O fitea
C—CHANNEL — WINGED, BOLT ON 8 | 0 ol . (;\ His i
oo . L = 1 e 1 -
14.0 AND 15.0 RIDE HEIGHTS 7 I Se=—===
25 (1.50) - (5.53) —|
— 5 (13.56) . - (1.25) —| |~ —IF SUSPENSION IS PRE—INSTALLED IN
— 10— .25 1.0 |— : 10.00" PIVOT HEIGHT ("E") FRAME BRACKETS, INSTALLATION OF
*31.50 (71.5” TRACK WIDTH) 12.00” PIVOT HEIGHT ("E”) CROSSMEMBER WILL REQUIRE HOLDING
C—CHANNEL WELDING AT C—CHANNEL WELDING AT ¥33.00 (73.0" TRACK WIDTH) THIS NUT WITH AN OPEN—END WRENCH,
35" & 47” BEAM CENTERS 41” & 48.5" BEAM CENTERS *37.50 (77.5" TRACK WIDTH) m‘;iguw‘&iﬁg NBSHEEEC%HT%OOM
* " .
43.50 (83.5" TRACK WIDTH) ) AHEAD OF THE BUSHING TUBE TO
OTHER TRACK WIDTHS NOT AVAILABLE USE 5/8" HEX HEAD CAP SCREW USE A BOX—END OR SOCKET WRENCH
. WITH PREVAILING TORQUE NUT. g
*THIS DIMENSION MUST BE MAINTAINED WITHIN +.06 SEE KIT A-30750. TORQUE T0 190420 FT—L8 NOR TO INSERT THE BOLT FROM INSIDE
S il : : THE FRAME BRACKET).
W X BOLT—ON C—CHANNEL WITH STRUTS — WINGED, BOLT—ON
i 14.0", 15.0", 16.0" AND 17.0" RIDE HEIGHTS
H::::::::%::: T e 150W
[ —
h :
Lj v 163— |— — 163
50 [T
25/ R 25/
25
SEE VIEW A
[ | 60 (.43) | J 25 L
A 15 X .38 —L
OBOJ FRAME BRACKET GUSSET LSOO ° ﬁ}» ° VIEW_B
‘ SCALE:25=1.00
WINGED, WELD—ON
125 |- 14.0 AND 15.0 RIDE HEIGHTS ~ bes o D e M
1 AND WINGED WELD—ON ONLY
FRAME BRACKET BRACING i
SUSPENSION CAPACITY—— AAEDT 30K !
FRAME ATTACHMENT—— WELD—ON BOLT-ON O 3.63 +£.10
FRAME BRACKET STYLE—— WINGED [ wiNGLEsS | WINGED CROSSMEMBER |
RIDE HEIGHT J
83 Al N2 R I T I e ee————
14.0 FRAMGEUSSREATCKET C— CHANNEL C—CHANNEL 43 [ o . 25/ 1.0 i
REQUIRED REQUIRED : R B D BENCACK R \ \
o0 RECUIRED * f C—CHANNEL WELDING AT CTCHANNEL & PRAME BRACKET BRACE C—CHANNEL WELDING AT T
15 - WINGED BOLT—ON SHOWN y
16.0 C—CHANNEL & C—CHANNEL & 357 & 477 BEAM CENTERS OTHERS SIMILAR. 417 & 48.57 BEAM CENTERS DETAIL X
FRAME BRACKET FRAME BRACKET — |- 38 ALL 16.0 & 17.0 RIDE HEIGHTS, ==
17.0 BRACE REQUIRED BRACE REQUIRED WITH STANDARD C—CHANNEL SCALE: .50=1.00
25
IT IS THE RESPONSIBILITY OF THE SUSPENSION INSTALLER TO PROVIDE AN EQUIVALENT oo I~ TOERANCES ARE BENSIONS ARE | 22| 26252 | 2AC| 1/27/17 |, eosow | 9—20-00 ® Hs=roo | »p Cor 4
FRAME BRACKET SUPPORT IF THE FRAME BRACKET BRACING IS NOT PURCHASED SCALE: . 25=1.00 GHHENDRICKSON| e e A A Ry INTRAAXT AAEDT
FROM HENDRICKSON. o ] | tomomu O SHENKLE | i corminr
TRAILER COMMERCIAL VEHICLE SYSTEMS ANGULAR: £ _— 30 G prosCToN Rii Eii’zz /:f 5?;?5 M e | et INSTALLATION DRAWING D—25321

-

(@)

D

&

ATTACH STRUT TO FRAME BRACKET GUSSET
USING THIS HOLE IN STRUT ONLY.

HOLES USED FOR CROSSMEMBER

WILL VARY WITH PIVOT HEIGHT.

BOLT—ON FRAME BRACKET

This Print remains the property of
Hendrickson. All information contained
thereon is confidential. It is loaned,
subject to return on demand and on
express condition that it is not to be
copied or used directly or indirectly
for any purpose other than the pur—
pose for which it has been loaned to
you.

INSTALLATION SEQUENCE:

1. LOCATE FRAME BRACKETS ONTO TRAILER FRAME AND LOOSELY
INSTALL MOUNTING BOLTS USING HARDENED WASHERS AT ALL
SLOTTED HOLE LOCATIONS.

2. INSTALL CROSSMEMBER, USING 5/8" MOUNTING HOLES ON FRONT
OF FRAME BRACKETS.

3. INSTALL STRUTS, USING 5/8” MOUNTING HOLES IN
FRAME BRACKET GUSSET AND CROSSMEMBER.

4. TIGHTEN CROSSMEMBER MOUNTING BOLTS AND STRUT MOUNTING
BOLTS, IF PRESENT.

2070 INDUSTRIAL PLACE SE. CANTON, OH 44707-2600 _U.SA

DIMENSIONS ADHERE TO ANSI Y14.5M—1982




